
Seat
No.

Sub. Code : 66296
Day and Date : Thrrrsday, lg-05_2017
Time : 10.00 a.m. to 1.0d p.m.

T.E. (Computer Science & Engineering) (part-I[)
(Semester-V) (Revised) Examiiration, lr;":; :- ;;fi

COMPUTER ALGORITHM

sL-470
Total No. ofPages : 2

Total Marks : 100

l) Questions4aod garecompulsorj.
lt 

-Altemnl 
an\ tburqucstiobs from rcmnining question5,J) Figurc! to rhe right iDdicale full mark.{t A\\lrme suitable data u hcrever necessarJ.

Ql) a) Erplain space and time complexir.v with suitable exanple. lslb) Find an Oprimal Sotution^ro ttre Knapsack i".;;;;,;:;, m=30, profit(p1, p2, p3. p4'1: e7,20.14,1s) ",,d'*;,g;;ri;;;, *., ir, *.1 = f ,r,10, 18, t0). 
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t*tAlgorithnr with example. show fiar its comprexity is

b) Lei ri:4 and probabilitiesrirh u,hich jdentifiers (al , a2, a3, u4) = (do,tl;int, while) are searched are. - p( r :.r) = ("1, 4, ,, 
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Ilslruetions :

Q3) a) Appiy Prim's and Kruskal,s Alsori
for following graph thm to find minimum Spanniag Tree

6 1o :;: 
t8l

.-,r'll'xz'itx€r ,l ? I ls C counected eraph
,l idl 15 ,/a
I *91 0

t.z I tQ-JO
8 ..l,' '2

b)
problem using dynamic
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Explain solutlon
programming.

I
to all pair shortest path



Q4) Write short note on (Soh,e any three):a) RandomizedAlgorithm
b) BinarySearehAlgorithm
c) Huffman eode
d) 0/1 Knapsack probtem

Q6)

Q5) a) Sllow that CNF satisfiabi liqz is reducible to directed Hariiiltonian circle.[glb) What are connected components and spanning trees? How is BFSalgoritm used to find whether graph i. .orn"","jo. no,. 
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Q7)

Q8) Write shoft note on;

a) Define the following terms:

i) Detenninistic andnon-deterministic algorithms

ii) Decision and Optimization pr.obiems

iii) p and Np problems

b) Butterfly Network

c) MESH Cohputational Model.

Explain solution to Graph Coloring problem using backrar-king. t8l
l],lll,: n:n,:.l"d. Articutation poi nt using DF5. ta.nti ry urii"uruti,,,,points for the followingundirecred "

/--\ _ graph byusingDFS spanning tree.[8|

Explain.backtracking solution to n_eueens problem. tglDescdbe and give example ofprefix compuiational model with PR-AM
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